Lattice Multiplication

18
2
6
18 x26=__
1 0
8
3
10x83=_
37
6
2

37 X 62 =
5 5
1
8
S55x18=__

Use lattice multiplication to find each product.

9 8 8 6 32
8 8 3
6 4 4
08 x 86 = 86 x 84 = 32 x34 =
36 9 8 4 4
2 8 9
3 2 8
36 x23=_ 08 x 82 = 44 x 98 =
5 9 9 3 1 6
9 8 9
0 0 9
59 x 90 = 93 x 80 = 16 x99 =
9 3 3 8 8§ 4
2 2 9
4 8 0
93 x 24 = 38 x 28 = 84 x 90 =
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Lattice Multiplication Answers

1 8

0 1 )
0 2 6
0 4 6
4 6 8
6 8

18 x 26 =468

1 0
0 0 8
0 8 0
0 0 3
8 3 0
3 0

10 x 83 = 830

3 7
1 4 6
2 8 2
0 1 )
2 6 4
9 4

37 x 62 = 2,294

55 x 18 =990

Use lattice multiplication to find each product.

36 x 23 =828

5 9
4 8 9
5 5 1
0 0 0
3 0 0
1 0

59 x 90 = 5,310

93 x24 =72.232

98 x 82 = 8,036

9 3
7 2 3
7 2 4
0 0 0
4 0 0
4 0

93 x 80 = 7,440

38 x 28 = 1,064
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44 %98 = 4,312

1 6

015 g
119/ 4
015 /¢
51,79 4
8 4

16 x99 = 1,584

84 x 90 = 7,560




